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SET-2
Series SSO/2 Code No. " 64/2/2
T . I IT-YETHT
Roll No. E?mai;ﬁg@ ! - -

Candidates must write the Code on the
title page of the answer-book.

o HUA I L T foh 36 T-9F H Higd U8 7 & 9T 2 Y8 WHRHAI h & |

o THUA H qfed T hI AR U MU Fie TR 1 B IWYETH o TGI8 W
ford |

o FUN AR fh M IHATTH 22T F |

o HUA U9 1 I ToTEA1 & A Uget, U9 T shilieh ravd ford |

e 3 YH-IA I U % AU 15 e &1 wHw fom mn R |y o foaor qate
T 10.15 & foham ST@ | 10.15 S § 10.30 &S dh DT hadl TIH-UT bl Tl
3R 38 AfY & GHF d IW-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 7 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Jgr=re)

GEOGRAPHY (Theory)
AEifa a7 : 3 go2 S7ferBadH 3% : 70
Time allowed : 3 hours Maximum Marks : 70
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G 3397 :

() I B T GEI22 § |

(i) ¥o7 G&I1-7 % 3T TY-ITIT F97 & | IAF Jo7 F1 1 3% 8 | 379 @
T J97 HT I 40 J55] & 37fer &7 787 g1 15T |

(iii) 97 GCIT 8 - 13 T TY-F1T J97 & | % J97 & 3 3% & | 79 & T9%
J97 HT I 80 — 100 531 G 37ereh &7 787 817 =T |

(iv) 57 &I 14 - 20 TF H9-3T09 J97 & | % o7 & 5 37 & | 370 @ I9%
7 BT I 150 T @ 37 &7 787 ST T03T |

(v)  ¥¥T GEIT 21 - 22 FHEIE] W 1R 7T Giiford e 1 gEerT I [efd Rar
TG FTHIHT HH G GIFlIT 8 | Iodh Jo7 F 5 3 & |

(vi) AR 3K YR & 17U 77 IGT-FrfE] H1 377+ FTH-Ji&aw] & @i 8 7avd
g Ffae |

(vii) GT-HHET F917 & fore @it a ©faet & 9T @1 gt & ardt 8 |

(viii) Ut 37 7T & |

General Instructions :

(i) There are 22 general questions.

(it)  Questions No. 1 - 7 are very short-answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(iii) Questions No. 8 — 13 are short-answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80 — 100 words.

(iv) Questions No. 14 - 20 are long-answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.

(v) Questions No. 21 - 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

(vt)  Outline maps of the World and India provided to you must be attached
within your answer-book.

(vii) Use of templates or stencils for drawing outline maps is allowed.

(viii) All questions are compulsory.
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1. FHF SHEEA | ghg 8 Bl g ? 1

How does urban population grow ?

2. 3ITUE Uy =i 1 3w fohe Wk feRe ST weka § 2 1
How can the satellite images be used ?

3. HIEMR % TR & ¥4 ¥ fashféa gF & 9@ Weh ot hl e i | 1
Explain the prime motive force in the development of Modinagar as a
town.

4. GOR % "eH H HeMr fohrg Hed & ? 1

What are highways in the world context ?

5.  9RA I 2001 I FTUET & JAIAR T et i fohegi g fomiwareti =

et T | E+i_
2
Mention any two characteristics of urban settlements as per the census of
India 2001.
6. TR W fhgl o Jeun & A ffay S8t sugw y=fd 2 | é+i=
2

Name any two regions where gathering is practised in the world.

7. Ig T SHEEAT € 91 A @ ? 1

What is the meaning of ‘ageing population’ ?

8. Tova wameen @eq & gImEl hI g § T Toey TR 6l AT HiT | 3

Explain a “Healthy City” in the light of suggestions made by World
Health Organisation.

9. “‘ArdT fsramsti A B9 T 7 |7 s I I SR 3H hYH hl AHE
IS 3x1=3

“The imprints of human activities are created everywhere.” Justify this
statement by giving any three examples.

64/2/2 3 P.T.O.
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10. YR i Jooft Ty afeqat st fohegl oA faemyansti it samen Hifs | 3x1=3

Explain any three characteristics of hamleted rural settlements of India.

11.  “fospr@ hl Hehou T ol haol AT &F deh & HiHd T8 W@ S debal |
$IH-9 Ao T i 38 FehedT i Tad-9I9viiy fohE § 9¢a &hd & ? T8

HIT | 3

“The concept of development cannot be restricted to the economic sphere
alone.” What values can convert this concept of development into
sustainable development ? Explain.

12. YRd § - I BEd FqE T ? TS H Uh-UH fGRINAT AT
£||\3Q| 3x1=3

Which are the three cropping seasons in India ? Explain one
characteristic of each.

13. T Sfeqat fopeg hed & 2 el Sfeadi shi feheal @ fasiwarsti shi sarean hifw | 142=3

What are slums ? Explain any two features of slums.

14. 3g-for foufis 1 afewr fafaw | e foufts 6 smefa @ wn ai@ted
BT 8 ? 39 TS, Eferan 3R Sa™ & 3Igrewen § =y i | 1+1+3=5

Define the term age-sex pyramid. What does the shape of the population
pyramid reflect ? Explain it with examples from Nigeria, Australia and
Japan.

15. WA & fomw ged #§ sfhi foavmie (fefiea fearse) i samen $ifsu | 5
Explain the digital divide with special reference to India.

16. Teq fh8 Fgd 2 2 9UR H YA o fohral TR SATRYUIT <hl SITEAT IeTaTull Hid

I | 1+4=5
What is tourism ? Explain any four tourist attractions in the world with
examples.

17. U9 1 DHH-AT AANEh TAHT TSEH HR oHA o ofid AIhRA a7 7 ? F8h!

foregl = foRiwareti i =ame HifT |

Which inland waterway of Europe is navigable between Basel and

Rotterdam ? Explain its any four characteristics. 1+4=5
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18.

19.

20.

21.

64/2/2

gaTd fh8 gd & ? Yd H Ja19 o grHTfoeh 3T qtaoiy il sh samen
HINT | 1+2+2=5

What is migration ? Explain social and environmental consequences of
migration in India.

Al SR Tl o o9 SR ¥¥ HINT | A 9Tl i RIS AR h
TORI-gR T el ATl & ? TIE HIY | 2+3=5
Distinguish between ports and harbours. Why are sea ports known as
gateways of international trade ? Explain.

I Y sl Tehegl i FaeaTdt FHTaTi hl ¥ T | 5x1=5

Explain any five common problems of Indian agriculture.

TR o U T T {@-AFE (98 9 W) §, 9= @& A, B, C, D 3R E
& g fe@me U 8 | 39 an R 9 @ e ARl S 9gRdT 9 YganHe 3

3Teh TE! A 3eh fHehe i 718 w@reli W fafen 5x1=5
A T STEfin wew

B. ITHW Wl Afw wIH

C. TUH @ §aR-IcH

D. U% 9@ HHdI-97H

E. U #m &

In the given political outline map (on page 9) of the World, five features
have been shown by A, B, C, D and E. Identify these features with the
help of the information given below and write their correct names on the

lines drawn near them :

A. An industrial region

B. A terminal station of railway
C. A major airport

D. A major sea port

E. A mega city

5 P.T.O.
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Fig:  [Aeliaa 3v7 Faa giEETET ghendEt & g, yv7 aem 21 & wIH
WE:
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :
(21.1) IR T o fopelt senfies st o1 A feifgw |
(21.2) UR-GTSEREA Yot o foret srf<m weem w1 9 forfaw |
(21.3) STl = fopeft weh TR w1 9w faiRaw S&f v Aty gag-ua fea
2|
(21.4) gfeqor aTshiehT o foreft Tt o st I fafaw |

(21.5) SUSHRET & A & w1 am fafge | 5x1=5

(21.1) Name any industrial region of North America.

(21.2) Name any terminal station of Trans-Siberian Railway.

(21.3) Name any city of Brazil where an international airport is located.
(21.4) Name any sea-port of South Africa.

(21.5) Name the mega city of Indonesia.

22. WRA o [CU T sHITh W@I-AMET (I8 11 V) H, fefafea i feafd 3ogw
gt @ fe@mse 3t 37 Tm fafaw . 5x1=5
(i) a8 ATk U@ o Tcd a1l TS (2001)
(i)  HThc I TE TSI IcUEH TST
(iii) W YW T I IMeh HRGHT
(iv) TSR § TRATR SIS ITeh
(v) W g § S i @ @H

On the given political outline map (on page 11) of India, locate and label
the following with appropriate symbols :

) The state having the highest density of population (2001)
(ii) The leading groundnut producer state

(111) An oil refinery in Uttar Pradesh

(iv) A software technology park in Rajasthan

(v) A major coal mine in Tamil Nadu
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Fig:  [AEliiega 397 o gIEETET et & o7g, 397 a6 22 F T W
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1) YA o TH Yk THEEAT Tcd a1l TF 1 A1 faIl@w (2001) |

(22.2) YRA H HIhe T ToH FT IcUTEH T HIA-A1 8 ?

(22.3) I YA o fohd T T da Mo HREMT T 7 ?

(22.4) TG % 3U TR 1 AW ffgu Tgf e aretist qreh e g |

(22.5) dqfEe A1g § ST I Ig@ @H 1 M fAfET | 5x1=5

(22.1) Name the state of India having the highest density of population
(2001).

(22.2) Which is the leading groundnut producer state of India ?
(22.3) In which place of Uttar Pradesh is an oil refinery located ?

(22.4) Name the city of Gujarat where a software technology park is
located.

(22.5) Name the major coal mine in Tamil Nadu.
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For question no. 21
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I E. 22 % fow For question no. 22

WA T {T-AHRE (TS TR )
Outline Map of India (Political)
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